Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - 11l EXAMINATION -WINTER - 2018

Subject Code:3330605 Date: 30-11-2018
Subject Name: SURVEYING
Time:10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.

6. English version is authentic.

Q1 Answer any seven out of ten. £21Hi&{l S18URL Uldsil wdlod [U). 14
1.  State principles of surveying.
1 ddeielel Reridl @il
2.  Classify surveying according to instruments used for surveying.
2 AUldelledl qulel UHLS ddel s aaflsel 520,
3.  Enlist the types of scales.
3. BaellusRlel ALl 241l
4.  What is the difference between the line of collimation and the axis of
telescope?
¥, UHIARQ WL A 2El851Uell e A 9] dsldd B ?
5.  Explain local rattraction.
U ReUlfels wLSNQL M)
6.  Define Fore Bearing and Back Bearing.
€ QUL UL AAATTIL e Usd ATl
7.  What s contour line?
9. AUl AeqG 97
8.  State use of alidade in plane table survey.
¢ uHule udeiHl duidl R3S «) Gulal qud)
9.  Write the advantages of G.P.S.
€. UlRAAeL slAEIRA @ull
10. Enlist different types of level.
0. A6l UsiRlefl ALEl 4414,
Q.2 (a) State how surveying is useful in civil engineering. 03
usl.2 ) ([Rlag sesa?l vl Adeil ol Gualoldl eslidl 03
OR
(@) Give the difference between Plan and Map. 03
(M) \Cllot el o1521L ARl dslad 241Ul 03
(b)  Explain Representative fraction. 03

1/3



Q3
usl. 3

“H

(b)
“H

(©
()

(©
(3

(d)
)

(d)
©)

(@
()

(@)
()

(b)
“)

(b)
“H
(©
(5)
(©)
()
(d)

)

[1eld 1yRILs UHendl
OR

Draw the conventional symbols for (i) North Direction (ii) B.M.  (iii)
Temple

ALY USR] (1) G (€Ul (i) A=A HLS (i) HIER
Explain Indirect ranging with sketch.

15[ 18 WU I7%)2L AHx1d).

OR

Explain Diagonal scale in brief.

SIANe1E 356 (AN gsHL UHomdl.

With neat sketch explain the process of taking Perpendicular offset.
A9 A 15d A1 Gei-w) 532 Adlef] Tyl

OR

Calculate Hypotenuse Allowance for 30 m. chain when sloping ground is 20¢.

02 3o dlofl asHlel HI2 30 Hle Aisu HI2 s8lq[egefl Ald?] 52

Define: Magnetic declination and Closing error
(UYL A [U): Y 51U (£5ULAS1QL A YU Ut A2,

OR
The magnetic bearing of line PQ is S 422 E and magnetic declination is 62 E.
Find out true bearing of the line PQ.

UL PQ ofl Y §1U AT S 420 E el Y S1Y [e5Uld 518162 E B. dll PQ 3wl

R RARISTEN 1

Differentiate between Prismatic and Surveyor compass.
Wl Els SUlM 4o MdUR SULRM A dslad duil

OR

Explain in brief Temporary adjustment of Prismatic Compass.

Wl 2ls Sulel S AH A1t vH21d).
Write short note: Contour interval and Horizontal Equivalent.

AU 221G WA HHRUIW [y qHsel (AR ¢ «ild qud).

OR
Draw contour plans for : Hill, Pond, Steep slope and Overhanging cliff

253],dulld, dy Usdl alul Al desdl (2l lell AHIRAIML dlall «i52ll £lR).

Calculate the included angles in the closed traverse conducted in clockwise
direction with following fore bearing of their respective lines.

Line F.B.
AB 40°
BC 709
CD 2109

DA 2802
eL[SULOA] (LT $AIMT 241Ae oi HIGIWEL ¥da1el e (M led
(Gl Judiadletl 214U AL {1 e2ulcl Yoyl AdlHL 441d4d, dell
uRef] ofe H1EWEL Hid RS WRLlHle{l a1R1d3] 5.

ul WY A3l
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OR
Write Short note on (i) Whole Circle Bearing, (ii) Reduced Bearing

éselldaull hyRigd Ao ) gd ule AL

Explain Radiation Method in Plane table survey.
Wl 2046 Ydofl [A591e0] Tt (AN gsHL AHMd)

OR
Enlist the errors in Plane Table survey.

yHuLe A& el 421200 Al€] w4)

Explain temporary adjustment of dumpy level
sl ddde] &l AHAwel qHdl

OR
Enlist the methods of orientation? Explain orientation by backsighting.
elsellUst ofl Tdefl ULE] odeld). usllde setefl T gl2L €15t scLefl
Ueg,[d uHmdl
The following readings were taken with dumpy level and 4 m leveling staff
on a continuously sloping ground.
1.100, 0.950, 1.400, 1.980, 2.600, 3.475, 3.860, 0.420, 1.560, 2.200
First reading was taken on a BM having RL 152.00. Find out RLs of all points by
HI method. Apply Arithmetic check.
Udd audl wHle U2 sl ddd £9l11 4.0 m dicdl Qddldl 159 <1 Yosudel
didelisl QoM icAl &dl.
1.100, 0.950, 1.400, 1.980, 2.600, 3.475, 3.860, 0.420, 1.560, 2.200
yeiy 31S19L 152.00m RL dloll BM U2 €lad &d. dl ¢iSlell dHIH 2221ststi HI
uer (el el %263 dllotl 241Ul

Differentiate between H.I. method and Rise and Fall method
UHIARL ddefl A e Aald-GdlRefl Td dAel) dslad wBLldl

Explain dip of magnetic needle
Yo S1 AU i1 51l HHoC)

Define Line of collimation, Reduce level and Back sight.

WL A [U)- G5t 2iLS S\ElNQLA, UI0e GULS, UkLldE]Set

Explain various types of GPS Receiver.
[Alay usiReil Ulay R¥UldR (AN yHod)
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